
Model Code Barcode Product Components Included Model Description

FIRE PIT RANGE

IXLMURFP 9332048029639

Murray Outdoor Fire Pit
1 x fire pit dish, 3 x stand sides,    

1 x front side, 1 x screwdriver,      

1 x spanner, 16 x M5 bolt,            

16 x M5 hex nut

IXLYARFP 9332048029646

Yarra Outdoor Fire Pit
1 x fire pit dish, 4 x stand sides,    

1 x screwdriver, 1 x spanner,      

12 x M5 bolt, 12 x M5 hex nut

IXLMANFP 9332048029622

Mansfield Outdoor Fire Pit

4 x fire pit sides, 1 x fire pit base,  

4 x stand sides, 1 x screwdriver,    

1 x spanner, 24 x M5 bolt,           

24 x M5 hex nut

PIT N GRILL RANGE

IXLPGKITDEL 9332048028076

Pit n Grill Deluxe Kit

1 x fire pit bowl, 4 x legs, 1 x grill 

plate, 1 x flat plate, 2 x rotisserie 

arms, 1 x plate remover

IXLPITKIT 9332048028083
Pit n Grill Standard Kit

1 x fire pit bowl, 4 x legs, 2 x 

rotisserie arms

IXLPIT 9332048028090
Pit n Grill Starter Kit

1 x fire pit bowl, 4 x legs

PIT N GRILL ACCESSORIES

IXLPGGRILL 9332048028120 1 x grill plate

IXLPGFLAT 9332048028137 1 x flat plate

IXLPGARMS 9332048028144 2 x rotisserie arms

IXLPITTOOL 9332048028168
1 x plate remover and bottle 

opener

Last updated: 09/12/2020

1K Marine Parade 

Abbotsford, VIC 3067, Australia. 

Tel 1300 727 421

orders@ixl.com.au

www.ixlappliances.com.au

IXL FIRE PITS, PIT N GRILL RANGE (AUSTRALIA)

mailto:orders@ixl.com.au
http://www.irobot.com.au/

